(E T E T

o
=
™
il
e
&
=]
=
S
3
s
op
il
=

~

H B SF64£11820H (K)
FE2HEND
= % R[HEE3-E-F
1 M o=
2 ZUEIRZ AL
3 WMRZRE

4 ZEMN

7 ik i

(1) %%iﬁﬁ-#ﬁﬁmomf

(2) FHESREOMER VAT Va2 — Il 2NT

(B)  HAWALA T A IR ARG 1 (R) 250 T
4) THRIAERE () 220 T
9 Zofth

10 B =



[& k]

- R
- EATREIRBE HERS TALE
- FEH AR E 2 15 - KA 2 %

- BE 2 — 1 JEARTT B IR EAR LA

- BE 2 — 2 JEARTES AL

- BEF2 — 3 BN WALAR TR A IR BLE B3R E 7

- ER2 — 4 FEAWRIAATREGIREERER ¥ a— b
- BERF3 — 1 EABEET (%)

- BE3— 2 Fa (%)

- BRE4 — 1 HOR AR AR T IR R R

- BE 4 — 2 AR (%)

- BRh 4 — 3 HHFIHREAR (R)

[% 2 B & OV 3 mIFEE HREFEMNRE 7 +— 4]




